This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 4 - Oban South and the Isles

3,633

4

727

#### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Gopi AGEER	Scottish Labour Party	169
Henry Drummond BOSWELL	Scottish Liberal Democrats	188
Donnie CAMPBELL		235
Amanda HAMPSEY	Scottish Conservative and Unionist	452
Willie HUME	Scottish National Party (SNP)	615
Andrew KAIN	Independent	295
Colin KENNEDY	Independent	256
Jim LYNCH	Scottish National Party (SNP)	773
Jamie MCGRIGOR	Independent	179
Phyl Stuart MEYER	Scottish Greens - Think Global Act Local	353
John WATSON	Independent	118
	Total	3,633

Candidate Jim LYNCH Elected with 773 votes, being in excess of the quota of 727

This report contains the transfers results.

### Stage 2 - Surplus of Jim LYNCH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Willie HUME	504	0.05950	29.98800
Transfer to Colin KENNEDY	17	0.05950	1.01150
Transfer to Jamie MCGRIGOR	25	0.05950	1.48750
Transfer to Phyl Stuart MEYER	80	0.05950	4.76000
Transfer to John WATSON	34	0.05950	2.02300
No further preference	67	0.05950	3.98650
Not transferred due to rounding			0.00650
	Total		46.00000

This report contains the transfers results.

#### Stage 3 - Exclusion of John WATSON

120.02300

Clage of Exclasion of Conn. With Con			120.02000
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gopi AGEER	7	1.00000	7.00000
Transfer to Henry Drummond BOSWELL	9	1.00000	9.00000
Transfer to Donnie CAMPBELL	12	1.00000	12.00000
Transfer to Amanda HAMPSEY	8	1.00000	8.00000
Transfer to Willie HUME	3	1.00000	3.00000
Transfer to Andrew KAIN	9	1.00000	9.00000
Transfer to Colin KENNEDY	12	1.00000	12.00000
Transfer to Jamie MCGRIGOR	34	1.00000	34.00000
Transfer to Phyl Stuart MEYER	11	1.00000	11.00000
Transfer to Gopi AGEER	1	0.05950	0.05950
Transfer to Henry Drummond BOSWELL	1	0.05950	0.05950
Transfer to Donnie CAMPBELL	3	0.05950	0.17850
Transfer to Willie HUME	10	0.05950	0.59500
Transfer to Andrew KAIN	3	0.05950	0.17850
Transfer to Colin KENNEDY	2	0.05950	0.11900
Transfer to Jamie MCGRIGOR	5	0.05950	0.29750
Transfer to Phyl Stuart MEYER	3	0.05950	0.17850
No further preference	13	1.00000	13.00000
No further preference	6	0.05950	0.35700
Not transferred due to rounding			0.00000
	Total		120.02300

Report Name: Transfers\_V0004\_Ward-4---Oban-South-and-the-Isles\_06052022\_143130.pdf Created: 06-5-2022 14:31:30

This report contains the transfers results.

### Stage 4 - Exclusion of Gopi AGEER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Henry Drummond BOSWELL	57	1.00000	57.00000
Transfer to Donnie CAMPBELL	10	1.00000	10.00000
Transfer to Amanda HAMPSEY	19	1.00000	19.00000
Transfer to Willie HUME	9	1.00000	9.00000
Transfer to Andrew KAIN	10	1.00000	10.00000
Transfer to Colin KENNEDY	7	1.00000	7.00000
Transfer to Jamie MCGRIGOR	12	1.00000	12.00000
Transfer to Phyl Stuart MEYER	23	1.00000	23.00000
Transfer to Henry Drummond BOSWELL	4	0.05950	0.23800
Transfer to Willie HUME	5	0.05950	0.29750
Transfer to Jamie MCGRIGOR	1	0.05950	0.05950
Transfer to Phyl Stuart MEYER	1	0.05950	0.05950
No further preference	29	1.00000	29.00000
No further preference	2	0.05950	0.11900
Not transferred due to rounding			0.00000
	Total		176.77350

This report contains the transfers results.

#### Stage 5 - Exclusion of Jamie MCGRIGOR

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Henry Drummond BOSWELL	27	1.00000	27.00000
Transfer to Donnie CAMPBELL	22	1.00000	22.00000
Transfer to Amanda HAMPSEY	43	1.00000	43.00000
Transfer to Willie HUME	9	1.00000	9.00000
Transfer to Andrew KAIN	40	1.00000	40.00000
Transfer to Colin KENNEDY	33	1.00000	33.00000
Transfer to Phyl Stuart MEYER	9	1.00000	9.00000
Transfer to Henry Drummond BOSWELL	2	0.05950	0.11900
Transfer to Donnie CAMPBELL	3	0.05950	0.17850
Transfer to Amanda HAMPSEY	2	0.05950	0.11900
Transfer to Willie HUME	2	0.05950	0.11900
Transfer to Colin KENNEDY	3	0.05950	0.17850
Transfer to Phyl Stuart MEYER	6	0.05950	0.35700
No further preference	42	1.00000	42.00000
No further preference	13	0.05950	0.77350
Not transferred due to rounding			0.00000
	Total		226.84450

This report contains the transfers results.

### Stage 6 - Exclusion of Donnie CAMPBELL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Henry Drummond BOSWELL	20	1.00000	20.00000
Transfer to Amanda HAMPSEY	16	1.00000	16.00000
Transfer to Willie HUME	38	1.00000	38.00000
Transfer to Andrew KAIN	39	1.00000	39.00000
Transfer to Colin KENNEDY	69	1.00000	69.00000
Transfer to Phyl Stuart MEYER	35	1.00000	35.00000
Transfer to Henry Drummond BOSWELL	1	0.05950	0.05950
Transfer to Willie HUME	5	0.05950	0.29750
Transfer to Andrew KAIN	2	0.05950	0.11900
Transfer to Colin KENNEDY	1	0.05950	0.05950
Transfer to Phyl Stuart MEYER	3	0.05950	0.17850
No further preference	62	1.00000	62.00000
No further preference	5	0.05950	0.29750
Not transferred due to rounding			0.00000
	Total		280.01150

This report contains the transfers results.

# Stage 7 - Exclusion of Henry Drummond BOSWELL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Amanda HAMPSEY	63	1.00000	63.00000
Transfer to Willie HUME	19	1.00000	19.00000
Transfer to Andrew KAIN	46	1.00000	46.00000
Transfer to Colin KENNEDY	27	1.00000	27.00000
Transfer to Phyl Stuart MEYER	55	1.00000	55.00000
Transfer to Amanda HAMPSEY	2	0.05950	0.11900
Transfer to Willie HUME	6	0.05950	0.35700
Transfer to Phyl Stuart MEYER	4	0.05950	0.23800
No further preference	91	1.00000	91.00000
No further preference	9	0.05950	0.53550
Not transferred due to rounding			0.00000
	Total		302.24950

This report contains the transfers results.

### Stage 8 - Exclusion of Colin KENNEDY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Amanda HAMPSEY	44	1.00000	44.00000
Transfer to Willie HUME	52	1.00000	52.00000
Transfer to Andrew KAIN	90	1.00000	90.00000
Transfer to Phyl Stuart MEYER	28	1.00000	28.00000
Transfer to Amanda HAMPSEY	1	0.05950	0.05950
Transfer to Willie HUME	7	0.05950	0.41650
Transfer to Andrew KAIN	2	0.05950	0.11900
Transfer to Phyl Stuart MEYER	3	0.05950	0.17850
No further preference	190	1.00000	190.00000
No further preference	10	0.05950	0.59500
Not transferred due to rounding			0.00000
	Total		405.36850

This report contains the transfers results.

### Stage 9 - Surplus of Willie HUME

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrew KAIN	158	0.06443	10.17994
Transfer to Phyl Stuart MEYER	291	0.06443	18.74913
Transfer to Andrew KAIN	35	0.00383	0.13405
Transfer to Phyl Stuart MEYER	265	0.00383	1.01495
No further preference	285	0.06443	18.36255
No further preference	236	0.00383	0.90388
Not transferred due to rounding			0.00578
	Total		50.07050

This report contains the transfers results.

## Stage 10 - Exclusion of Phyl Stuart MEYER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Amanda HAMPSEY	21	1.00000	21.00000
Transfer to Andrew KAIN	152	1.00000	152.00000
Transfer to Amanda HAMPSEY	2	0.06443	0.12886
Transfer to Andrew KAIN	76	0.06443	4.89668
Transfer to Amanda HAMPSEY	4	0.05950	0.23800
Transfer to Andrew KAIN	16	0.05950	0.95200
Transfer to Amanda HAMPSEY	4	0.00383	0.01532
Transfer to Andrew KAIN	78	0.00383	0.29874
No further preference	341	1.00000	341.00000
No further preference	213	0.06443	13.72359
No further preference	80	0.05950	4.76000
No further preference	183	0.00383	0.70089
Not transferred due to rounding			0.00000
	Total		539.71408